Ratio to ATLAS

o(W +2> Njet;jets) [pb]

7000 GeV pp W
105 i I L L B B I B e B
— « - -
o 4
J(Et multiplicity ((ETj>20,|r]j|<2.8,ETe>20,|r]e|<2.47 ,anu>25,MT>4O,ARu j>0§§
| m ATLAS iE
—a— Pythia 8.301 default N
10* = —&— Pythia 8.301 default-noFsr —<
— —a— Pythia 8.301 default-noRap o
_ u 9
— —
3 | _
10 = - =
— Yy
L 1™
@
= — o
B m 45
(49)
g
2 | 1=
10° E X
— . E
N n | -
L 1<
n o
Q
2
10 = =3
[ — O
:I | | | | | | | | | | | | | | | | | | | | 5: E
: T T | T T T T | T T T T | T T T T | T T :
2 £ -2
1 1
0.5 — —0.5




	Contents
	Page 1


